- STUDY
= KOREAN




STUDY
KOREAN

S

29 31=E IS0 SAILCL

— N

OreH 211} 0IF FI=E AISoiM 2 S22 =B F0il CHol 2H0H=2 11,

2HI == LMok

/

| 1+ §THoll 2od BAIR.

°

122 224 olzH
9]

=
=

(¢ oll L k=)

/

\




€5 Ok JEi1t 015 FH=ES AHSsHM 2 2io] U= CHoH 2ok,
I

QUES A 4B JIES B

fiin
L
O

— i

e} 2
24t 9441
Qpopit
ARP=7]




=" STuUDY

—_ KOREAN

S

& Ol JE OIS FI=E ALSHHM Zreral

410
HHES AJHSHs &% JIEE BEQ 2A

B=E

| 2B =0l CHol 20K 11,
ICk.

— = =




€b Ok JEI1t 01 FI=ES AHSsHM 2 2io] U= CHaH 2ok,
I

ale
EHEES Llok= &% I1== BIE0 SAILCL

1K Aol 5 7ol Eod BAIQ
o

Joss s} it o)
GG 243} 9175 A=
ZA5t7] $I5t4 =735} a4 g%
291 713 i;_?_;.]-._'z_;] o

she-g HlahLE Selo] o
b mepel ) ( ABOR AFEHE
A7 244

/FN‘\
()
A e oy o
N
g 9 o
-+ rlr N
i




€p =1 AILH A2 RIS 0ll CHoll 20HENIR?
B OzH £ = 2101 2MIR.

=M Alcliol AlEAIE
ZM A= A20| O SQ3HARS|R Qi 501, Al HRI02 AE0| LI-OfH0IR.
/ \ 4 N
y o b
T ﬂ Al
@ s 2010 QMK S S St GIX Rt
omiomassaomos || DHEERIUSSIEERISOR0R
xR0 RX[OInF 2O Af2iS 10|t 50| EOIH I AL CIZ LIzt
oRole. U Soisl= o OFT ARG K|Z0l=
M | —
O ARRIZO0| BRI0[%4X|Q.

e

J
™

N

ﬁ

oy, ’\ 'A :

- il
M2 AP 2 AISC| ARIEE
LeH|L i P22 ARES0(RI0| 2.

LHI=YREC[oRICE FAS AR

et ES0IH 55, 0%,

IHH[ O =~ AlCHe|

oo BI0| 20103, 2ot R =02 At
SIS ERER? )\ o= slole. Y,

L2 B XHEO | OEH= HEE(H0IR. L Pt

KA EHOJLIZAASIE] QI8 10] 1, LeH] S9! B0 EHOILIH EfOHLH= 22 H
slofofakaHEiL|ck

ZMALHO| O] MER|E 2

ClE2H 22

M e e e e R M R R M M M R R R e G R R M R M R N R N e e R A e e e e e e W

SEA
LS AL

X 124pl| 1120|HiRl= 242 E
L S Y018

oo|

oL

E LH|Z

O E2R0, 2120



= STUDY
"= KOREAN

€ =& AlICH 22Nt S 200 CHoH &ZtsH2A B2t 012122] M2S H 0] =HMIR.

ZH4 AMCH 2EMZ= HHEA 010X 2ALIR?

01""0'I =HIOIAM ’“3 H=S
HXE FIEE £+ AASNKR?

OF

= S0 21201 H6ILH= 0IKRE B2 Al

. S0l OHXIS2H0 HH=0IM ZJ1LHAI & A

J| II2012t2 2ok= stXIS0l RSLICL

21 0l OIS 20ie? ZI- =1t 010k7IH = AICEH

M3 3
2 o

S 19z 10
4

03rx 30 &
02 M mfy mf

Iix 2  jo
OO
32

.

M 02 4m 02
AT WX MW

02 M 0




— AL
= STuDY HE e *I' = o

KOREAN

@ Ao AR Blme)

€3 0122 Li2tel SHHIo= Of™ JBI0l ALIR?
SHHl = 810} 213 A= AIEE ZILE0AH 20000 2AIK.
213 T AL Hi=Et stx30| 2Ie1= 2011 ACHH S| HiulohA LTHoH 2AIK.

0i2iZ Li2li= =41 AILH M2 XMIE=ME CIE
HEJL AA0R? O Hx= 220011, XSS

OteHOll =11 ZI2=1t 010F716H = AILCE

SiXH st=0ILt 0i212 Li2Holl= 01t XF=220] 2A0iK?
Oi2i20] HiF* 1! &2 X2 HI== O0l0F7IoH 211, (IE A 51 Hi= £
AUSZI 01016l 2 MIL.




